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Daily 5: Day 2 Name:

1. Look at the questions below. Which letter has the smallest value? Tick the
letter below.

a+8=23
60+-b=5

36-c=25

2. Look at the patterns below. The length of one side of a square tile is 2 cm.

Pattern | Pattern 2 Pattern 3

a) What is the perimeter of pattern 3? Write your answer in the space below.

cm

b) Look again at the pattern above. How much longer is the perimeter of
pattern 2 than that of pattern 1?

cm
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3. A snail goes on a trip. On the way he stops to eat a leaf and then for a nap.
The line graph below outlines his journey.

Distance in Metres vs. Time
10

etres

Distance in M

0
9:00 10:00 11:00 12:00 13:00

How long in minutes did the snail stop to snack on the leaf and take a nap in
total? Write your answer in the space below.

minutes

4. Sophie and Sarah go for dinner. The bill comes to £36.48. They split the bill
in half. How much do they each pay? Write your answer in the space below.

5. What is 5:26 pm as a 24-hour clock time? Write your answer in the space
below.
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1) Write the plural for the following words in the space below:

Cat

Cargo

Sandwich

Half

2) Look at the words below. They are all in the present tense. Write the verb in
the past tense in the space provided.

Absorb

Allow

Annoy

Appeal

3) Correctly identify the Noun, Verb, Adjective and Adverb by ticking the
correct box below.

Noun Verb Adjective Adverb

Clear

Hopefully

Give

Crater
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4) Apostrophes are used for omission and possession. Circle the correct answer
that makes sense in the sentence below.

Ruth is going to her brothers brother’s house for dinner. Hed He’d cooked an
amazing meal as its it’s Ruth’s birthday. Sam has two dogs dog’s and they

welcomed Ruth as she entered the house.

5) Look at the sentence below and insert the correct homophone from the list
below into the sentence.

were where we’re wear

13

are we going for dinner?” Grace asked as they

"’

about to leave the house. “I need to know what to

“Hurry up! going to be late!” bellowed her Mum.
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Answers
Maths

1) C

2)a)32 b)8
3) 90

4) £18.24

5) 17:26

English

1) Cats, Cargoes, Sandwiches, Halves

2) Absorbed, Allowed, Annoyed, Appealed

3) Clear = Adjective  Hopefully = Adverb Give = Verb Crater = noun
4) brother’s He’d it’s  dogs

5) Where were wear we’re
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